
逻辑比较
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• Standard English Convention

Sentence structure 

*Conventions of usage

Conventions of Punctuation 

Pronouns 
•Pronoun clarity 

Possessive determiners 
Agreement 

•Pronoun-antecedent agreement 
•Subject-verb agreement 
•Noun agreement 

Frequently confused words 
Logical comparison 
Conventional expression 



课堂目标：

1. 掌握比较动词
2. 掌握比较名词
3. 掌握两者和三者（以上）比较
4. 掌握标志词搭配



• 比较动词：

• LX runs faster than YM.

• LX runs faster than YM does.

• LX runs faster than does YM.



• 比较名词：

• YM is taller than LX.

• YM’s legs are longer than LX.

• YM’s legs are longer than LX’s.

• YM’s legs are longer than those of LX.



• 麦当劳的汉堡比肯德基的汉堡好吃。

• McDonald’s   vs.   KFC 
• Burger King
• Subway
• Jack in the Box    
• In-N-Out
• Wendy's
• Shake Shack



• 考点1：比较对象一致

• 比较级的标志词: 
• than
• like/unlike
• differ…from/ compare…with
• as…as 



• After sampling the grapes, the six judges 
decided  that the homegrown produce 
tasted better than the import company. 



• When they were asked  to compare 
Norman’s paintings to painter 
Robert, the students entered into  a 
prolonged  discussion. 



• There is  probably no story more dramatic  
than baseball’s  great hitter and right 
fielder, Hank Aaron.



• Because of its innovativeness and its 
effective presentation, Mary's science 
project received  more judges' votes at the 
exhibit than did Jim. 



• In some species of birds, such as the peafowl, 
the plumage of the male is more colorful and 
more variegated than the female.
• A) NO CHANGE
• B) than are the females
• C) than that of the female
• D) compared to the female



• Twice as many bird species inhabit Ecuador as 
in North America.
• A) NO CHANGE
• B) as inhabit
• C) instead of in
• D) when compared to 



• 考点2：两者或三者比较

• 两者比较：比较级

• 三者（及以上）比较：最高级



• Of the more than 50 entries in the high school 
science fair, Sarah’s project was declared more 
innovative by the panel of six judges. 



• The library is older than it but still just as 
beautiful as the courthouse.
• A) NO CHANGE
• B) older and it is just as beautiful as the 

courthouse
• C) older than the courthouse; it is just as 

beautiful as it
• D) older than the courthouse but just as 

beautiful



• 考点3：标志词搭配

• either… or…
• neither… nor…
• compare… to/with…
• differ… from… 
• as… as…
• not as/so... as…



• Neither the koala bear or the red panda 
belongs to the bear family.



• Brand-name prescription drugs are often 
more  familiar to consumers  than generic 
drugs, but the latter are not nearly  as 
expensive than  brand-name drugs. 



• Researchers have found that large fish are most 
likely to contain high levels of mercury than small 
fish. 

• A) NO CHANGE
• B) are more likely to contain high levels of mercury 

compared to small fish
• C) are more likely than small fish to contain high 

levels of mercury 
• D) compared with small fish most likely to contain 

high levels of mercury 



练习
• A good online course at the high school level 

provides resources that are comparable to 
courses in which teachers and students are in 
the same room.
• A) NO CHANGE
• B) providing courses
• C) that of courses
• D) those provided by courses



• The training period for PAs is markedly 
shorter than those for physicians—two to 
three years versus the seven to eleven 
required for physicians. 
• A) NO CHANGE
• B) that compared with
• C) that for
• D) DELETE the underlined portion.



• For both commercial and, arguably, creative 
reasons, then, no transition was more 
successful than those from the Golden to 
Silver Age.
• A) NO CHANGE
• B) these
• C) that
• D) DELETE the underlined portion.



• Some people buy organic food because they believe 
organically grown crops are more nutritious and safer 
for consumption than the people who purchase their 
conventionally grown counterparts, which are usually 
produced with pesticides and synthetic fertilizers.

• A) NO CHANGE
• B) the purchase of
• C) purchasing
• D) DELETE the underlined portion



• Many of the moves in the dance, such as 
jumps, rolls, and kicks, are similar to martial 
arts and acrobatics.
• A) NO CHANGE
• B) the disciplines of martial arts and 

acrobatics. 
• C) martial artists and acrobats.
• D) those in martial arts and acrobatics.



• Job-sharing initiatives may also involve some 
extra cost for companies, since the salaries 
and cost of benefits for two job-sharing 
employees are usually higher than being for
a single employee.
• A) NO CHANGE
• B) that of
• C) those for
• D) DELETE the underlined portion.



• The Amazon River carries more water than the
water carried in any of the world’s other rivers.
• A) NO CHANGE
• B) the water elsewhere in the world's rivers
• C) any other river in the world
• D) all rivers in the world



课堂内容回顾：

1. 掌握比较动词
2. 掌握比较名词
3. 掌握两者和三者（以上）比较
4. 掌握标志词搭配



Thanks
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